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D)-10 @ -11 ® -12 @ -13 ® -14

(=9) + (-4) = (-3) = {(-9) + (-9} + (+3)

(-13) + (+3) = -10
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A=(-16)+(=2)+(-4) , B
T}?

= (-2 x3+ (-2 Lo, A-B ] %S

@® 2 @)4 ® 6 @ -4 ® -2
B
A = (-16) + (-2) + (-4)
=8+ (-4)=-2
B = (-2)?x3 <+ (-2)?
=(-8)x3+4
= (-24)+4
=6
A-B=-2-(-6)=4
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=2

4+ c+(-2)

2} obH 24 34+ (-2) =3 o] E=
b+(-3)+2=3..b=4

=3 ..
a+1+3=3..a=

c=1
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13. o o G 403 b o ARG 8 AW, a-b 7D 5 e @
F 7bg 2 g Fateler.

> E.

[> e 12 EE 412

a=4EE 4, b =8 EE -8
a-b7V Aol B2 a=4b=-8Ld W a-b=12




14. o8 AR T % (1), (2), (3) 14 o188 WAL A2 oj?

(-20)x(g—§)-(-3)
=(~24) x(3)+(=24) x (-) (- 3)](1)
=(—3)+(+4)—(—3)j(2)
=(+4)+(=3)+(+3)

e

=(+4)+0

=4
O LLEREEEREEE
@ wuHa, A%, LEE
OELTEREEERELEE
@) sa, merga, 2ea
® LW, AL, 2upE

(1)=ax(b+c)=axb+axc— woH=
(2)=a+b+c=b+a+c— WFHZ
B)=(a+b)+c=a+ (b+c) > BEHZ
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A4 99 49 A A, B, C, D 9 Atol9f A7 4T W, B+ D

A
o] gre Fatelet.

A B C D
«~p———— >
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_1g 8
> £
1
pol=y _
|> oHd 4
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H A SHA C 9 Aol Ae
1 ( 5)_1 5 47
-1z ) =S +12 =

8 6 8 6 24
A A SHA B 9 Aol A=
47 1 47
— X = = —
2472 48
5) 47 41

3l - (_1= -
“BL(lﬁ 48 48

1 47 53
XJDE__ =
= s 18 18

53 12 1
B+0=(-5) " k-




the 202 WESE A% abc o okel a—b+c o FHe?

Q lal = 21b| © |bl=3
© ab=AN2HELRS ® a>b

@ a+b+c=0

@ +2 @ +4 (@)+6 @ +8 ® +10

~&B

Ob=%3,@a=126,0O@ab=XNE2IEES @a> 0>
o|B= g=6,b=-3°|t}.
@a+b+c=6+(-3)+c=00]E& ¢c=-3 0|t}
Wt g — b+ ¢ = (+6) — (=3) + (-3)

= (46) + (+3) + (-3)

= +6 o]t}




18. ot ZHAA 7k, A=zl 1 Al 9] Fol BF 27 He fels
a, b, ¢ °ll St a + b + ¢ 2] FL2 ot}

4x2x(-1)=-8, 4xax(-2)=-8°a=1

(=2) xbx 5= —8°|A b=

Ut co O W~

(-1)Xxcx5=-8A ¢ =

17
web a bt o= o




19. 92 F 2@l 7P 2 AL? (x>0, y<0)

Q@ xxy+y © xxxxy

® -3xxXxy @ (-3)XxXxXyxy
6 @ © ®e
@ ® ® &4 Aot

~&B

@Dxy+y = x3<0, y<0°]BZ xy+y<0

Ox’y = x>0, y<0°/EE x2y <0

©®-3xy > -3<0, x>0, y<0°]2& —3xy>0

@ (-3)x%y? > -3<0, x2>0, y?2>0°]B2 -3x%? <0
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1 11 1 1 1 1 1 1 1 1 1
90 9 10°110 10 11’ 132 11 12’156 12 13
1 1 1 1 _(1 1) (1 1)
90 "10 "2 "6 - \9T10/T \1o 1/t

<1 1)+(1 1)
11 12 12 13
1 1 13-9 4

9 13 117 117




